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Math 1312 Test 1 Review Questions

Test 1 covers chapters 1 and 2 from the textbook.
How to study: Study the class notes, review homework problems, and try to do as many
exercises as you can from the textbook. Note that answers are provided at the back of the book to

all odd numbered problems.
You need to know what definitions mean and theorems and postulates as facts but you do not

need to memorize them word by word.
Here | provide some examples for you. This is not a complete list, studying only these examples
is not enough!

1 Condit . C A
M, if the sum of their measures is 90"

Hypothesis:

Rewrite the conditional in the standard “If hypothesis, then conclusion” form.

lQ 3{\\9_ cum oQ e neomures e& 2 Zs \s 'Slo"j

W-C _\,\_\e“ -\v\\ea oure c,ohue\e,mer\*&ra.

Converse:

C ~H 10 hpo 45 ore comf\e.men*o.r:k

en Me sum ok Meic memmsuces 18 ClO

Invers c ‘\.UJD
nH A ‘j_é’f\\g sum oc \'\‘\E meoxusres O
H C s \'\O'l' ao Hhen -\'kea acre _“9:5" oour\emhrd

Contrapositive:

~vesed T dwo Ag Qre v\o‘\ Coruf\emen*mts

#&e;\%mueb s wt 9o’
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2. Is B the midpoint of AC if BC = x + 8, AB = 2x — 6,and AC = 44 ?
AZ¥-6 B x4B, ¢ 2x- 64+ %x+&= 44

e s4 — 2 2 M e 20
Yeal 5x= =22

x = |4 LC =442 =22
3. Find X if mzKLN = (2x)°, m«NLM = (3x — 10)°, and mzKLM = 100°.
22X+ x-1\0 =100
2% -\0 =00
S5 x = \\WO
X= 22

me KLN= 22D = An®
M < NL'\\";B(Z?)‘\D =Sb
J:TQ \e NOV' an £ bleecor.

4. Classify angle KLM if it is known that LN isan anale bisector and
m«KLN = (2x + 10)" and m«NLM = (3x — 45)°

M < v LN 2‘2(55>'\'|O
= \20°

2X+\0 = 2 x-U5

0= x-U5 o
x= 52 m 2 kLM =2(20) =240

relex
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S\ enen'hl‘q
5. Ifangles 1 and 2 form a linear pair (i.e. 21 and 22 are adjacent and ee‘ﬁ'aaa—%yp 2y an

mzs1 = (6x + 10)" and ms2 = (2x + 10)°, findf:nd the measures of both angles.
/ éx+lo+2xtlo= 180
|
— ~Z Ex+20 =180
& x =160

x =20
m<l=600+10= L0 Ml =220 +10= |

6. Ifpllmand ms3 = 105" and m«5 = 95, find the measures of all other angles in the
following figure.

7. Identify the type of Reasoning used in the following examples.
a. Michael received two Christmas gifts from his parents in the last three years. He
believes he will receive two gifts for Christmas from his parents this year.

S“AAQ’H\IQ

b. All dogs are friendly. Molly has a very friendly pet named Rocky. Hence, Rocky

is a dog. . v*”Q \ b-?Q

1. XC an o\lmo.;t . a “\“5\ Yhen




8. Give an-proof of the fgllowing statement.
If two angles are not congruent, then

bmﬂ@'- N&sw‘\\e. -’wo <S Gre Uer“"'CO

Then thepe << cre C.S)f{amen‘l‘
BUT ‘H‘%f ore hoT Oonamen‘f. Gontradi chol

Hence +he assu hon 1s £5/se
Then #he << oare er“‘hc‘?l @

9. Find the measures of angles 1-5 in the figure below, if 4B || CD.

A B

L‘S 5 60°

135° 1"‘5 6Q 4\2‘D
D

N\N=56
10. Find the measure of an interior and exterior angles of a regular hexagon. Know the
formulas!
260 o ~ - (-2 \2D
t=—] 6D =
& n
@-2) . \80 )
1=130-60 = 20° I = =—7— =\
11. Classify a triangle if it is known that the sum of the m
* and none of the side lengths are equal to ;
Saalene <\+ me e
* ™mal ame TN me S =\D
N

12. Given: XY intersect ZW atpoint M. ZM = MW andZM L M¥. e+ > =(¥D
Which of the following statements is true?/

i.  Point M is the midpoint of ZWW . - 0N°
ii.  Point M is the midpoint of XY. )< Med qo
iii. XY is a bisector of ZW.
iv.  ZW is a bisector of X¥. 3 /

v. XY is the perpendicular bisector of ZW.

vi.  ZW is the perpendicular bisector of XY.
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13. Find x that insures that p || q. 5x +40 = \Ux +G
p Qo = Ax=+Q
5X + 90 L\ =Qx

)

-

A

=
SN
X
+
(o]

L

14. Decide whether the following is always true,@ometimes true, br never true.
If £1 and 22 are complementary and 22 and 23 are complementary, then 21 and 23

m <\ -\-___._...__ qoo are vertical.
mzrAmes ‘-Q'o“l mel=tnes

15. Find the value of x and y in the following figures.

X+ DT =% -
96° 7= 0 q‘(

N = L2 +54

C

X 37° 43° 54°
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16. Complete the following proof. ® .- .
Given: B is the midpoint of AC.
Prove: AB = AZ—C.
PROOF
Statements Reasons
i
LR isThe T3] 1. Given
of A xt
2. AB = BC 2 Oel of ‘“\e m&?o.nk
3. AB+BC =AC 3.

S poslulo'}e
4, AB + AB = AC 4, QL'LS-I-’ }u"_’on

5. 2(AB) = AC Subeh ftution

6. A B - ’\'C 6. Division Property of Equality

o

— )
=
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